Chapter 7 AXH.
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2) 229 & ¥4

AFE AR 27, 22

=*}; alphabet, <A}, 7| %

ASCII (American Standard Code for Information Interchange)

7 bit, 2'=128 FF

0~32, 127 ; Alo]&=4
0x30 ~ 0x39; 0 ~ 9
Ox41 ~ Ox5A; A ~ Z
0x61 ~ Ox7A; a ~ z

FHl

2.1 ASCII Code Table

HEX A9 0 1 2 3 4 5 6 7
b6 | 0 0 0 0 1 1 1 1
ol x4 b5 | O 0 1 1 0 0 1 1
b4 | 0O 1 0 1 0 1 0 1

39| b3 | b2 | bl | bO
Ojlol0]0]O NUL | DLE | SP 0 @ P D
1]0]0|0]1 SOH | DC1 ! 1 A Q a q
2 10/l0]11]0 STX | DC2 " 2 B R b r
3lolof1]1 ETX | DC3 | # 3 C S c s
410111010 EOT| DC4 | $ 4 D T d t
51011011 ENQ | NAK | % 5 E U e u
6 |0 1]1]0 ACK| SYN | & 6 F \Y% f v
71011111 BEL | ETB ' 7 G W g W
8110010 BS | CAN ( 8 H X h X
9 l1]0]0]1 HT | EM ) 9 I Y i y
Al1|lO0o]1]O0 LF | SUB * : J 7 ] z
B|l1|/0/|1]1 VT | ESC | + ; K [ k {
cl1{1]l]0]0 FF | FS , < L W 1 |
D|1|1]0]1 CR | GS - = M ] m )
E|l1[1]|]1]0 SO | RS . > N n n ~
Fl1]1]1]1 SI | US / ? 0 - 0 DEL

St 2 byte €48, 283




4) BCD Z=

BCD =Z=

BCD -> 2%

2% => BCD

ASCII -> BCD ®3%

O 2.4 7|1RE/3E JEY
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=8 #, 713 (symbol, 873, T2 713 nemonic)
OR

19 13.11
AND

a9 13.12
NOT

a9 13.14

XOR
1Y 13.28

2) Boolean Algebra

1=

13.11 & 2] 3

QA 0+X=X
(b)) 1+4X=1
() X+ X=X

(&) X+ X=1
®H0-X=0

(g)1- X=X
h X- X=X

B X-X=0

(X=X

k) X+Y=Y+X

O X-Y=Y-X

m X+ (Y+2)=(X+Y)+Z
m X-(Y-2)=(X-Y)-Z
(0) X- (Y+2)=X-Y+X-Z
P X+X-Z=X



(@ X X+Y)=X
) (X+Y) X+2)=X+Y-Z

() X+ X - Y=X+Y
WX Y+Y-Z+X-Z=X-Y+X-Z

De Morgan® A

X+Y)=X-Y

Iy 13.17

% 13.18

o Al 13.3

ol #] 13.4



3) bitwise ¥4 &-&

(a) OR

(b) AND

(c) XOR

(d) NOT



